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o, H,I,t, ( S0 ps=12.4kPa)
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p, 124

H=-062 2 _o0622x 1

p—p 100—-4
=0.026kg /kg
I=(1.01+1.88H)t+2500H =118kJ/kg
p =4kPa 29
t4=29
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= P1=1UV 70
H, 20 ps=2.27kPa

H =H,-062 %P5 —o622x "2
P~ ops 101.3 - 0.5x2.27
=0.007 /kg
p =0.5x2.27=1.14 kPa
¢1=100 % t,=9

tw=25 o I'W=2441kJ/kg, pw=3.186 kPa
at,—t,)=k,r, (H, —H,)

H()IHW— . (tO_tw)
H W

_o.622 Pw 1O
P—DPy Wy

(¢, —t,)=0.0178kg kg



AH=H,—-H,=0.007-0.0178 =-0.0108kg /kg
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= AI=4.180(H,—H)
= kJ/ke 5

C,0<<r
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(1.01+1.88H)t+2500H=(1.01+1.88H,)t,+2500H,
b _ (1L01+ L.88H )t + 2500 H — 1.01¢,

: 1.88¢, + 2500
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